Installation Instructions Part Numbers:

. 75421
Kia Sedona Van
Frame Rail . 44537
/ Hyundai Entourage 70761
™~ Fasci 78211 u-Haul
ascia
Do Not Exceed Lower of Towing Vehicle
oo ] Manufacturer’s Rating or
. Max Gross Max Tongue
Hitch type Trailer WT (LB) WT (LB)
Weight Distributing 4000 (1816 Kg) 400 (182 Kg)
Hitch Shown In Proper Position Wei -
ght Carrying
Ball Mount 3500 (1589 Kg) 350 (159 Kg)
Equipment Required: Wiring Access Location: SUVI & SUV2

Fastener Kit: 75421F

Wrenches: 19mm Frame rail /

Drill Bits: None

Fasteners typical both sides

Existing
Weld nut

[0) | Qty. (6) | Hex Bolt M12 X 1.25 | &) | Qty. (6) | Conical Washer
1. Remove the exhaust from its hangers to get better access to frame fastener location.

2. Raise hitch on the passenger side over exhaust pipe and slowly rotate hitch into position.

3. Secure hitch by loosely installing all the bolts.

4. Push hitch forward against installed bolts.

Tighten all m12 fasteners with torque wrench to 76 Lb.-Ft. (103 N*M)
5. Reattach previously removed exhaust hangers.

Note: check hitch frequently, making sure all fasteners and ball are properly tightened. If hitch is removed, plug all holes in trunk pan or other body panels to
prevent entry of water and exhaust fumes. A hitch or ball which has been damaged should be removed and replaced. Observe safety precautions when working
beneath a vehicle and wear eye protection. Do not cut access or attachment holes with a torch.




Instructions d’installation Numéros de pieces:

. 75421
Kia Sedona Van
Cadre de . 44537
/ chassis Hyundai Entourage 70761
Carénase 78211 u-Haul
g Ne pas excéder les spécifications du fabricant de
véhicules de remorquage, ou
oo ] Type d’attelage Ploai?zgrourtq {ﬂaa?fb ()ie Poids mzzﬁ.’)au timon
Distribution de la charge 4000 (1816 Kg) 400 (182 Kg)
Capacité de charge -
Attelage montré dans la position Montage 4 bille 3500 (1589 Kg) 350 (159 Kg)

appropriée
Equipement requis:
Visserie: 75421F

Clés: 19 mm /

Meéche: Aucune Cadre de chassis

Point d’acceés au cablage: SUV1 & SUV2

Visserie similaire des deux cOtés

Ecrou a souder
existant

[0) | Qté (6) | Boulon hexagonal M12 X 1.25 | &) | Qté (6) | Rondelle conique

1. Dégager le tuyau d’échappement de ses crochets de suspension pour faciliter 'accés a la visserie du cadre de chassis.
2. Soulever I'attelage du c6té passager par-dessus le tuyau d’échappement et le faire pivoter lentement en position.
3. Fixer I'attelage en installant tous les boulons sans trop serrer.
4. Pousser I'attelage vers I'avant contre les boulons installés.
Serrer toute la visserie de M12 en appliquant un couple de serrage de 76 Ib-pi. (103 N*M)
5. Rattacher les crochets de suspension du tuyau d’échappement enlevés précédemment.

Remarque : Vérifier I’attelage fréquemment, en s’assurant que toute la visserie et la bille sont serrées adéquatement. Si I’attelage est enlevé,
boucher tous les trous percés dans le coffre ou la carrosserie afin de prévenir ’infiltration d’eau ou de gaz d’échappement. Un attelage ou bille
endommaggés doivent étre enlevés et remplacés. Observer les mesures de sécurité appropriées en travaillant sous le véhicule et porter des
lunettes de protection. Ne jamais utiliser une torche pour découper un acces ou un trou de fixation.




Instrucciones de instalacion Numeros de partes:

. 75421
o Kia Sedona Van 44537

bastidor Hyundai Entourage 70761
78211 u-Haul

No supere el valor inferior entre la calificacion
] del fabricante del vehiculo del remolque o

Placa protectora

oo
. Peso maximo bruto Peso maximo de la
Tipo de enganche del remolque (LB) horquilla (LB)

Distribuidor de peso 4000 (1816 Kg) 400 (182 Kg)

El enganche se muestra en la Montaje de b];’el‘;‘opara cargade | 3500 (1589 Kg) 350 (159 Kg)
posicion correcta

Ubicacion del acceso al cableado: SUV1 & SUV2

Equipo necesario:

Kit de tornillos: 75421F
Llaves: 19mm Larguero del /

Brocas de taladros: Ninguna bastidor

Tornillos similares en
ambos lados
Tuerca de

soldar
existente

() Cant. (6) Perno hexagonal M12 X 1.25 | ® | Cant. (6) Arandela coénica

1. Retire el escape de los ganchos para lograr un mejor acceso a la ubicacion del tornillo.

2. Levante el enganche en el costado del pasajero por encima del tubo de escape y lentamente rote el engancha hacia su
posicion.

3. Asegure el enganche instalando todos los pernos sin apretar.
4. Empuje el enganche hacia adelante contra los pernos instalados.

Apriete todos los tornillos de m12 con una llave de torsion hasta 76 Lb.-pies. (103 N*M)
5. Vuelva a instalar los ganchos del escape anteriormente retirados.

Nota: Revise el enganche con frecuencia, verificando que todos los tornillos sujetadores y la bola estén correctamente apretados. Si se quita el
enganche, tape todos los orificios en el colector del batl u otros paneles de la carroceria para evitar la entrada del agua y los gases del escape.
Se debe retirar y reemplazar un enganche o bola que se haya dafiado. Observe las precauciones de seguridad al trabajar por debajo del vehiculo

DRAW-TITE TRAILER HITCHES HITCH MOUNTS


http://www.carid.com/draw-tite/
http://www.carid.com/trailer-hitches.html

